
Class:Class 5 Subject: Science Topic:Force, Energy and Simple 
Machines

S.No Question Answer Options

1 In a pair of Tweezer, the 
effort is __________ .

Zero

To Be Applied On The 
Fulcrum

Located Between The 
Fulcrum And Load

Located On The Left Side 
Of The Fulcrum And Load

Zero

To Be Applied On The 
Fulcrum

Located Between The 
Fulcrum And Load

Located On The Left Side 
Of The Fulcrum And Load

2
Pen caps and bottle caps 
close tightly because of a 
__________ arrangement.

Screw

Wedge

Pulley

Wheel And Axle

Screw

Wedge

Pulley

Wheel And Axle
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3

Egyptians used these simple 
machines to lift heavy 
stones while constructing 
pyramids.

Levers And Pulleys

Wedges And Axle

Cranes

Wheel And Axle

Levers And Pulleys

Wedges And Axle

Cranes

Wheel And Axle

4
Fill in the blanks : 
____________ materials 
produce less friction.

Answer
____________

Answer
____________

5

Choose the correct word and 
fill in the blank : When 2 
bodies have same speed and 
travel in same direction, 
they have _________ velocity.

Different

Same

Different

Same
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Correct Answer is
1. Correct Ans option is Located Between The Fulcrum And Load
2. Correct Ans option is Screw
3. Correct Ans option is Levers And Pulleys
4. Correct Answer is Smooth
5. Correct Ans option is Same
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